PS»Ei312
Of 3y u2030UC¢ 3T3-3Y4D
2013 pwywbh nGYwinkdptnh 25-h
N 97-U aranusy

©8°1 204 2014 AT2T2UE ~Vateck 12682120 ©1 ual, 2UEU @28°6/0 D2TT20200U°B8A" AéT ~UatecT2UEU 12E&°5K
fasize=120 28621251920

(N=1%=3f 1A30Y»A4AT)

= . . . . =t ATai0
J;E = £|2a| 2 “lade» W BICY TSEE»AC - afl363T3Y 1383130 U3Y AVLS{nVA
e ch 5 Eﬂ pwdhOOtnh, fudptnh L nwutinh woqwonidbbpp Junswywb pniet | $nlnwiha pintek
1 2134 5 6 7 8
AU _2@°UA 12Eé°s 69,491,815.9 69,081,815.9 438,000.0
2100 |01 |0 |0 AU _p=20as6 ~UasUAE p2Us2UEU 7,776,684.2 7,108,810.4 667,873.8
T2e20a0A0as0U0°s

31 ATa0

2110 | O1 | 1 | O |aA»Yé1CA = -aAT31CA USAUCYY»A, &» 1313y 7,216,733.5 6,875,359.7 341,373.8
I'36373A40U, yCY3YESI3Y
hwpyuwpimgbuwnuyhl hwpwpbpnipiniGGGp,
wnunwphl hwpwpbpnipiniGGap
anco’

2111 | 01 | 1 | 1 |Gfi»Y&2CA ™ -aRT31CA UBAUCYY»h, S 3T3Y 7,216,733.5 6,875,359.7 341,373.8
T=3é=3130ail

2130 | 01 | 3 | O |LaGnhwGnip pGnyph dwrwynipnlGGEN 72,050.7 72,050.7 -
anco’

2131 |01 |3 |1 Uzruwmequdh /qwnptnh/ génd pOnhwbnp panyeh 72,050.7 72,050.7 -
1=3¢3{a0AlasYY»h

2150 | 01 | 5 | O |Lhnhwlnip plnyph hwﬂnw;ﬁl] dwruynipintaoenh 326,500.0 - 326,500.0
-T4T7 N» 13331313y 7 YIE3- [3cY
BBES3TIYOY»A
anco’

2151 | 01 | 5| 1 |COnhwGnip p[jmjph hwlpwhl SwewjnipntGOtnh qény 326,500.0 - 326,500.0
U»T3BATST3Y " YSEZ- 13(CY SREST3YUY»A

2160 | 01 | 6 | O |2anhwlnup plnyph hwipuyhl SwewynipintGaGn 161,400.0 161,400.0 -
(3l 2136»ACY 443T113Y40)
anco’

2161 | 01 | 6 | 1 |COnhwGnip pGnyph hwGpwihG SwewnipintGatin (wi 161,400.0 161,400.0 -
13¢»ACY 83T 13Y40)

2200 |02 |0 |0 a2pta2UasAlacy 41,870.0 41,870.0 -
31 ATa0

2220 | 02 | 2 | 0 |@=303036¢C313Y &381&3YaoAlary 22,000.0 22,000.0 -
anco’

2221 | 02 | 2 | 1 |@=0=3036C3T3Y &3/ ASVaiAlasY 22,000.0 22,000.0 -

2250 | 02 | 5 | O |43BTA&3Y40AI40Y (3 136»ACY 483 1T3Y40) 19,870.0 19,870.0 -
anco’

2251 | 02 | 5 | 1 |a3Rra&3YasAlasy (3l 136»ACY 4831 T=Y40) 19,870.0 19,870.0 -




=t ATai0

T = % »%L | T labe»W3ICY TBEe»AC - aRT363T3Y 1363137 U3Y AVISUnTA
e ch 5 Eﬂ pwdhblbnh, fudptph L nwutiph waywbnabbpp Jwnswlwl pynigt | $nlnwyhl pynigk
1 2 3|4 5 6 7 8

2400 | 04 |0 | O TUTeé2T20 p252"°2sa6Alasuues 9,584,418.0 15,081,171.9 (5,496,753.9)
=1 A4

2420 | 04 | 2 | O | MadO=3uY U »éa0Alacy, 3Yr3é3icy o 363,300.0 - 363,300.0
VYU E40AI40Y, OTYAAEA0AIA0Y ~~ AREAA1A0AIATY
anco

2424 | 04 | 2 | 4 |&ag4-adl 363,300.0 - 363,300.0

2450 | 04 | 5 | 0 |TA3YE&4AT 16,358,743.5 13,986,091.1 2,372,652.4
anco

2451 | 04 | 5| 1 |O3Y3&3AN3CY TASYEAAAT 8,567,070.8 6,331,483.3 2,235,587.5

2455 | 04 | 5 | 5 |Ea0AT3T383A3(CY ~ 3 wASYe&af 7,791,672.7 7,654,607.8 137,064.9

2470 | 04 | 7 | O |Uy pOowquywrGln 15,000.0 15,000.0 -
ance’

2473 | 04 | 7 | 3 |2pnuwnontpintl 15,000.0 15,000.0 -

2490 | 04 | 9 | O |Sunbuwlwl hwpwpbpnipin006p (wyy nwubphl (7,152,625.5) 1,080,080.8 (8,232,706.3)
d83113Y40)
ance’

2491 | 04 |9 |1 Sﬁmbqguu,wg hwpwptpnientGbtn (wy nwubph (7,152,625.5) 1,080,080.8 (8,232,706.3)
a&3713Y40)

2500 | 05 |0 |0 Pdxe2T2 GL=2212U8% 42pTa2UadAlasu 7,213,194.3 7,143,194.3 70,000.0
=1 A4

2510 | 05 | 1 | O |Unpwhwbnty 5,037,106.4 5,037,106.4 -
ance’

2511 | 05 | 1 | 1 |UnpwhwGnLd 5,037,106.4 5,037,106.4 -

2530 | 05 | 3| 0 |PACZT= UCe3 T3¢ S0TATU3Y 15U 3030 38,701.9 38,701.9 -
ance’

2531 | 05 | 3 | 1 |G2C 30mawU3Y 1»0 &3(u=3A 38,701.9 38,701.9 -

2560 | 05 | 6 | 0 |PAc=31= UCc3T3UA¢C 3BT &ZYaoAlasy (3l 2,137,386.0 2,067,386.0 70,000.0
13E»ACY 4831 T3Y40)
ance’

2561 | 05 | 6 | 1 |Pic=T= UCC3T3IC &3Rwa3VatAlasy (S 13e»icY 2,137,386.0 2,067,386.0 70,000.0
4&37T3Y40)

2600 | 06 [0 | O ~02T26202U£U pEU=2628a0AUa0U ©1 9,183,398.3 6,650,256.8 2,533,141.5

TagasU=t 12e20a0Alacuues

=1 A4

2610 | 06 | 1 | O | "YSI=SA3Y3(CY BCY3A3A40AI46Y 526,597.1 26,597.1 500,000.0
ance’

2611 | 06 | 1| 1 |7 YST3A3Y3(CY RCYSASAa0AlasY 526,597.1 26,597.1 500,000.0




=t ATai0

T = % %L o Tlase»3ICY TBEe»AC -aRT363T3Y 1363T34.U3Y AVISUnTA
e ch 5 Eﬂ pwdhbatph, fudptiph L nwutiph woqwandbtpp Jqunswlywb pniet | $nlnwyhb pniot
1 2 3|4 5 6 7 8

2630 | 06 | 3 | 0 |@ASU=T 313730400 3,074,160.2 3,074,160.2 -
afigo

2631 | 06 | 3 | 1 |efi=3U=3w=3T3i=nal 3,074,160.2 3,074,160.2 -

2640 | 06 | 4 | 0 |64040Y»A¢ F466= FaAa6U 2,180,973.0 1,973,973.0 207,000.0
afigo

2641 | 06 | 4 | 1 |6&046Y»AC Faie=TaRadU 2,180,973.0 1,973,973.0 207,000.0

2650 | 06 | 5 | O | “Y3I=3A3Y3icY BeY3A=nacAl3Y — 1aUasy=¢ 8,000.0 - 8,000.0
136340AlaoYy»A¢ - IAT N> 13%a1313Y
YIEZ3. [3cY SRE3T3Y0Y»A
afigo

2651 | 06 | 5| 1| YSTSASYS(CY RCYSASAAAISY " Talayst 8,000.0 - 8,000.0
1363{a0Ala0YY»AC - TAT M>3%awr=T3Y = Y3ES. 13(cY
3RE3T3YuY»i

2660 | 06 | 6 | O | ~Y3I=3A3Y3ICY BeY3A=3na0AI3Y ~ TaUasy=e 3,393,668.0 1,575,526.5 1,818,141.5
136340446V Y»i (3IF 136»ACY 4831 T3Y40)
afigo

2661 | 06 | 6 | 1 |~ YSTSA3YS(CY acvfojﬁ3ﬁé6AU?Y"'l'éqga\’@g 3,393,668.0 1,575,526.5 1,818,141.5
1=363[a0AlasYY»A (3l 12e»ACY 4831 T3Y40)

2700 | 07 |0 | O 2ealz2a2pasAlasy 165,000.0 15,000.0 150,000.0
=1 A4

2710 | 07 | 1| O | “ABI3I=Y 3&A=YaY»A, é30»0 100,000.0 - 100,000.0
é3Au3ranacvy»n
afigo

2711 | 07 | 1| 1 |_»0=-aAT3T3Y S&A3YaY»h 100,000.0 - 100,000.0

2760 | 07 | 6 | 0 | 2640¢=383NaoAla6Y (3F 136»ACY 4831 T3Y40) 65,000.0 15,000.0 50,000.0
afigo

2761 | 07 | 6 | 1 |2640¢3&3N3T3Y N3ASTCH 126340A140YY»A ™ TAS - finfi 65,000.0 15,000.0 50,000.0

2800 | 08 [0 | O p2UvEeT, @b2TaolA i TsaU 3,423,173.5 2,466,693.5 956,480.0
=1 A4

2810 | 08 | 1 | O |P3Y-&7C ~684ATC I36346AI46YY»hA 830,163.6 418,683.6 411,480.0
afigo

2811 | 08 | 1 | 1 |D3Y-&W (¢~ 6R4AWC I=26=3(40AIA5YY» 830,163.6 418,683.6 411,480.0

2820 | 08 | 2 | O |@B3T46A3ICY 263404146V YA 2,532,989.9 1,987,989.9 545,000.0
afigo

2821 | 08 | 2 | 1 |TIASIZABYY»fi 609,257.7 364,257.7 245,000.0

2822 | 08 | 2 | 2 |ASY-3A3VY»fi ~ 6406363V »f 234,202.4 234,202.4 -

2823 | 08 | 2 | 3 |Uwynyph wnbn, wyntipbtp, Ysaunpnbbsn 85,108.2 85,108.2 -




=t ATai0

T = % »%L o Tlase»3ICY TBEe»AC -aRT363T3Y 1363T34.U3Y AVISUnTA
e ch 5 Eﬂ pwdhbatph, fudptiph L nwutiph woqwandbtpp Jqunswlywb pniet | $nlnwyhb pniot
1 2 3|4 5 6 7 8
2824 | 08 | 2 | 4 |2 UB=TAASICY T3S T»AAA0AIAGYY»A 1,176,205.8 876,205.8 300,000.0
2825 | 08 | 2 | 5 |2fT»&W 401,515.8 401,515.8 -
2827 | 08 | 2 | 7 |DARSAOBYY»AC ~* UBSTAIASICY 3AA»UY»A¢ 26,700.0 26,700.0 -
DAST3Y- Y450~ &3N&a=3Vail
2830 | 08 | 3 | 0 |@31Ca " N»éaié T 3N30an1a5uy»n¢ 36,000.0 36,000.0 -
N»63[031U3Y * NA3T30312313Y
1363JacAlacyy»h
afigo
2831 | 08 | 3 | 1 |P»é&de T =631CaN=04aM145UY»f 36,000.0 36,000.0 -
2840 | 08 | 4 | 0 | TA&Y313Y =~ N363431313Y 3 24,020.0 24,020.0 -
1363JacAlacyy»h
afigo
2843 | 08 | 4 | 3 |TRAY=ST3Y " N=263A3T3T3Y 3 1263(40Al40YY»f 24,020.0 24,020.0 -
2900 |09 [0 | O ToAaAUasU 23,707,658.9 22,153,400.3 1,554,258.6
=1 A4
2910 | 09 | 1 | O |UBE314Aa6313Y = w3AA=313Y AYIN=3Yaoh 13,240,035.2 12,940,035.2 300,000.0
TAdaoAiasy
afigo
2911 | 09 | 1 | 1 |USE3147463T3Y ThA&oAlasY 6,847,740.0 6,547,740.0 300,000.0
2912 | 09 | 1 | 2 |T3AAST3Y AYIN=Yadn ThAABAIASY 6,392,295.2 6,392,295.2 -
2920 | 09 | 2 | O |@CeY3TI3rA- AYIN3YAGA TAAZ0AI46Y 7,124,009.9 7,124,009.9 -
afigo
2921 | 09 | 2 | 1 |BGUY=T=Y AY2N=Yadfn THAAAl&GY 6,813,678.2 6,813,678.2 -
2922 | 09 | 2 | 2 |@CcY=3T=3- (FACT) AVIN=Vasn TAA&sAIASY 310,331.7 310,331.7 -
2950 | 09 | 5 | 0 |A8T UST3A13IY»AC 4136313f- 40 17AadAla6Y 2,764,650.1 2,060,391.5 704,258.6
afigo
2951 | 09 | 5 | 1 |2AWS1ARA6ST3Y 136 WC3ASTA0AlA0Y 2,764,650.1 2,060,391.5 704,258.6
2960 | 09 | 6 | O | TAA&GAI3YA TA3U31/1740 0A=Y13T 578,963.7 28,963.7 550,000.0
1363JacAlacyy»h
afigo
2961 | 09 | 6 | 1 |TAA&AISYA WA=U31AT40 0A=3Y1=3T 1=2¢3(40AIa5YY»A 578,963.7 28,963.7 550,000.0
3000 | 10 |0 | O eaok=2t2120 a=2pta=UasAlascy 2,349,111.7 2,349,111.7 -
=1 A4
3070 | 10 | 7 | O |846C3E3T3Y N3Wa0l 3AWAYATAIAGYY»1i (SlE 583,104.6 583,104.6 -
136»fCY 4843 1T3Y40)
afigo
3071 | 10 | 7 | 1 |@46C3H3T3Y N34T SAWAYAIAIATYY»A (S 13e»ACY 583,104.6 583,104.6 -

i&=r1=Y40)

10




=t ATai0

[ . [ — — - N .
Jéz = »%L o) Tlaso» =ICY T2Ee»AC - aRT363T3Y 1363137 U3Y AVISUnTA
e ch 5 Eﬂ pwdhGOtnh, fudptinh L nwutinh woqwonidbbpp Junswyw pniet | $nlnwiha pintek
1 2 3|4 5 6 7
3090 | 10 | 9 | 0 |846C3¢E3T3Y &3BUE3YA0Al46Y (SIF 136»ACY 1,766,007.1 1,766,007.1 -
483113Y40)
&RCo
3091 | 10 | 9 | 1 |846C3E3T3Y A3R T ABYAAIATY (S 138»ACY 302,359.1 302,359.1 -
A3TT=3Y40)
3092 | 10 | 9 | 2 |@46C3HE3T3Y A3RTASYAAISYA WA=U31AT40 0A3Y13T 1,463,648.0 1,463,648.0 -
1=3¢3{a0AlasY Y»f (3 126»ACY 4831 1T3Y40)
3100 | 11 |0 |0 pAEZU=2T20 “2AEUU°8EU &a_=2éi1al 6,047,307.0 6,072,307.0 3,000.0
a2patéT2UEU ual _°s
31 ATa0
3110 | 11 | 1 | O |PP I'B6373A40AI3Y ~ N3U3IYuY»A¢ 6,047,307.0 6,072,307.0 3,000.0
&34 13Igy yavr
&RCo
3112 | 11 | 1| 2 |pP N3U3VuY»Ac &3Nasen=ICY yayr 6,047,307.0 6,072,307.0 3,000.0

11



